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H,0,(aq) + 31 (aq) + 2H" (aq) — I3 (aq) + 2H,0(l) (Slow Reaction)

1. lodine Clock Reaction
I3 (aq) + 25,03 (aq) = 31~ + S,0¢™ (aq)

Darkroom 11207 ‘ I3 (aq) + starch - (Dark blue Complex)
< — 5V 2 ' ' ~ Chemicals
— Chenlical @j ‘ | Arduino Circuit
Laser [Reaction | |4 AQ 5~ *0.3% Starch solution with
| =— f sodium thiosulfate
\ ) CdS 0.4g of sodium
Photo-
resistor Arduino
Light Source (Laser) *0.002M Potassium iodide
odine solution
lock
GND GND I(ie(;f:tion Photoresistor
*7.5% Hydrogen peroxide with
h— small amount of sulfuric acid
2. Arduino Control Mechanism
. I DIR « Arduino= Chem.E.Car A|AEIQ| Moo At E=ICEH
rushe = =
Li-Polymer @ OUTA Motor PWM — * Laser 9" Hl_l-%o-” 9|°|_|' A—I]I Hljgl-E Alﬁ%-cﬂ 7£|I_%O'” *f%E.J |:l'--
Battery 7.4V - OUTB Driver |
- GND 3. Li-Polymer Battery _ _
 Li-Polymer Battery of 7.4V2| AIZ2 Chem.E.Car| 2&2 =0|11 4=F51E &=L
System Control Experiment
o Volume of Kl vs. Time of Reaction
100 - *
Cw M
7 7 £ 60 y = -27.806x + 203.41
Arduino(5V) Arduino(0V)
40 - R?=0.9713
Darkroom Darkroom 20 -
\ 0 - . . | | .
Y Motor 3.9 4.1 43 45 4.7 4.9 5.1
V 1 ok ,{/)/ v Volume of Kl
; Table 1: Reaction time Calculation per volume of chemicals used.
‘ — N ‘ Volume Used (ml) Time detected (seconds)
\ Method . Comments
@ KI Starch H202|first color change fully changed
Photoresistor Photoresistor 4 6 _IO 9345 9596 4/6 iS Outlier
4.1 5.9 10 85.98 87.44 Not well stirred
4.2 5.8 10 84.13 85.84
Motor Board | Motor Board | 43 57 10 81.28 83.25
| | | 44 56 10 76.11 79.78
Li—Pon;nz:/Battery Li—Pongw'ée&/Battery U Si N g Sensor 4 5 5 ) 5 1 0 76 5 9 78 94
4.6 54 10 7243 74.59
T _ _ e e _ _ 4.7 5.3 10 70.37 7214
L ZEX| MM (photoresistor) 7t 2|0 X &2 Soff 22 8= A|, X{al0| 246t 48 52 10 67.24 69.37
Arduino= AMSE ZX|s5t] 5VE &HSHE} BICHe| AK0||= Xeto| =HE QlC) 49 51 10 64.93 68.34 Not Exact
5 5 10 63.47 65.43
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